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1A 2H 3A INET 4H oH 6R Mgt | 7H 8H 9H ME [ 108 [ 11A | 128 | /bt H &t &t
X L) 277 264] 380 921 0 0 0f 4,605 4,178 921
b —fktith 44 49 68 161 0 0 0 630 713 161
SDHEXRAE 233 215] 312 760 0 0 0f 3,975 3,465 160
#MERX E ) 92 133 133 358 0 0 Of 1,713[ 1,550 358
2b—figtith 29 31 33 93 0 0 0 462 489 93
DLRAHE 63 102 100 265 0 0 0] 1,251] 1,061 265
BERX E 7 164 242 226 632 0 0 of 1,712 2, 262 632
b —ftith 21 30 41 92 0 0 0 425 400 92
DLRAHE 143 212 185 540 0 0 0f 1,287 1,862 540
e E 7 29 57 69 155 0 0 0 17 799 155
b —ftith 16 38 47 101 0 0 0 421 480 101
DLRAHE 13 19 22 54 0 0 0 296 319 54
PREX EXZ) 307 550] 1,004 1,861 0 0 0f 5,143] 5,287 1, 861
b —ftith 61 67 15 203 0 0 0 641 965 203
DHERAFE 246] 483] 929[ 1,658 0 0 0f 4,502 4, 322 1,658
[iE] =8 ) 264] 352| 315 921 0 0 0f 3,151 3,784 921
> b—fktith 51 38 47 136 0 0 0 417 498 136
SDHERAE 203] 314] 268 185 0 0 0f 2,734 3,286 185
EX L) 102 125 172 399 0 0 0f 1,404 1,542 399
> b—fktith 38 46 67 151 0 0 0 558 649 151
DHEXRAE 64 19 105 248 0 0 0 846 893 248
KRER L 62 68 119 249 0 0 0 816 832 249
2b—figtith 21 38 64 123 0 0 0 582 519 123
DLRATE 41 30 99 126 0 0 0 234 313 126
XEFK =Y 175 190] 226 591 0 0 0] 1,593] 1,719 591
2b—figtith 26 25 90 101 0 0 0 352 350 101
DLRAHE 149 165 176 490 0 0 0] 1,241] 1,429 490
IR E 7 219] 358] 366 943 0 0 0f 2,396] 3,749 943
b —ftith 46 52 51 149 0 0 0 365 445 149
DLRAHE 173 306[ 315 794 0 0 0[ 2,031 3,304 194
A E ) 102 193] 229 524 0 0 0f 1,474 1,920 524
b —ftith 68 80 82 230 0 0 0 180 900 230
DHERAFE 34 113 147 294 0 0 0 694 1,020 294
NN EZ) 209 254] 455 918 0 0 0[ 3,343 3,434 918
b —fktith 10 67 99 236 0 0 0f 1,057 1,026 236
DHERAE 139 187 356 682 0 0 0f 2,286] 2, 408 682
RN ) 125 176 219 520 0 0 0o 2,121 2,274 520
b —fktith 49 81 94 224 0 0 0 976 974 224
SDHEXRAE 16 95 125 296 0 0 0[ 1,145[ 1,300 296
R L 106 105 375 986 0 0 0f 1,393] 1,541 586
b —fktith 93 50 81 184 0 0 0 641 159 184
DLRAEIE 93 95| 294 402 0 0 0 152 182 402
AHFX L 105 131 153 389 0 0 0f 1,593 1,937 389
2b—figtith 91 121 143 3595 0 0 0f 1,436] 1,607 355
DLRAETE 14 10 10 34 0 0 0 157 330 34
X =Y 62 16 116 254 0 0 0] 1,135] 1,349 254
b —ftith 42 48 88 178 0 0 0 133 833 178
DLRAHE 20 28 28 16 0 0 0 402 516 16
WEREX EXZ) 185 179 294 658 0 0 0f 1,930] 2 149 658
b —ftith 67 92 119 218 0 0 0 915 924 278
DLRAHE 118 817 175 380 0 0 0f 1,015] 1,225 380
BRX E ) 51 1 115 237 0 0 0 896/ 1,004 231
> b—ftith 26 51 83 160 0 0 0 621 618 160
DHERAE 25 20 32 11 0 0 0 275 386 11
Be] £ 5 X ) 95 132 271 504 0 0 0f 1,423 1,496 504
b —fktith 11 84 109 264 0 0 0 185 847 264
SDHEXRAE 24 48 168 240 0 0 0 638 649 240
FZiIR L) 96 114 138 348 0 0 o[ 1,371 1,467 348
b —fktith 61 60 88 209 0 0 0 139 167 209
SDHEXRAE 35 54 50 139 0 0 0 632 700 139
FER L) 81 104 242 433 0 0 0[ 1,660[ 1,649 433
b —fktith 65 16 123 264 0 0 Of 1,175 1,230 264
DLRAEHE 22 28 119 169 0 0 0 485 419 169
RESR E 7Y 159 139 216 014 0 0 of 1,782 1,717 514
2b—figtith 83 91 134 308 0 0 0] 1,319] 1,242 308
DLRAHE 16 48 82 206 0 0 0 463 475 206
TEHRX E 7 109 137 192 438 0 0 0f 1,594] 1,602 438
b —ftith 85 112 154 351 0 0 0f 1,240 1,269 351
DLRAHE 24 25 38 81 0 0 0 354 333 817
i) 4=3 EXZ) 141 169[ 250 560 0 0 0f 1,620 1,951 560
b —ftith 122 151 209 482 0 0 0f 1,412 1,677 482
DHERAE 19 18 4 18 0 0 0 208 274 18
PN T e 3,313] 4,319] 6,281 13,913 0 0 0f 46, 585] 51, 252 13,913
Shb—fktih| 1,306] 1,578[ 2, 149] 5,033 0 0 0f 18, 682{ 20, 181 9, 033
SHERAEA| 2,007] 2, 741] 4,132] 8,880 0 0 0f 27,903( 31, 071 8, 880
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